NOTICE OF AWARD

TO: Twin K Construction

Katherine Ajmeri

Anderson County Deputy Purchasing Agent

2 2

PROJECT DESCRIPTION: <u>Proposed Bridge Rehabilitation on Lovely Bluff road over Clinch River in Anderson County.</u>

The OWNER has considered the BID submitted by you for the above-described WORK in response to your Bid dated <u>January 31, 2019</u>, and other Bid Documents.

You are hereby notified that your BID has been accepted in the amount of \$ 137,613.25

You are required by the Information for Bidders to execute the Agreement and furnish the required Contractor's Performance Bond and Payment Bond and Certificate of Insurance within ten (10) calendar days from the date of this Notice to you.

If you fail to execute said Agreement and to furnish said bonds within ten (10) days from the date of this Notice, said OWNER will be entitled to consider all your rights arising out of the OWNER'S acceptance of your BID as abandoned and as a forfeiture of your BID BOND. The OWNER will be entitled to such other rights as may be granted by law.

You are required to return an acknowledged copy of this NOTICE OF AWARD to the OWNER and to the ENGINEER.

DATED this day of	felt, 2019.
	BY: Lay Jong TITLE: May Luft.
	EPTANCE OF NOTICE WARD is hereby acknowledged this the day of
FEBRUARY, 2019.	
Approved By	(Contractor)
Notala Ech 2.6.19	BY:
Natalie Erb, CPA, CTP Anderson County Finance Director	TITLE:

2001 X 10000

The votage

Men na Eliza e Inno

Approved By

Settlemen symen against Song Great/Person Lon

BID TABULATION ANDERSON COUNTY PROPOSED BRIDGE REHABILITATION LOVELY BLUFF ROAD BRIDGE OVER CLINCH RIVER RGC PROJECT NO. 18703

INCOME AND				Twln K Co			truction	Southern Constructors					Jones Bros				MId-Stat	e Construction		
ITEM NO.	EST. QTY.	UNIT	DESCRIPTION	U	UNIT PRICE		EXTENDED PRICE		UNIT PRICE		EXTENDED PRICE		UNIT PRICE	EXTENDED PRICE					-	
604-10,32	80	LF	Expansion Joint Replacement	\$	739,15	\$	59,132.00	\$	700.00	Ś	56,000.00	\$	500.00	¢	40,000.00	c.	900.00	ė	72,000.00	
604-10.50	4	S,Y.	Bridge Deck Repairs (Partial Depth of Slab)	5	819.60	5	3,278.40	Š	300.00	S	1,200.00	è	300.00	4	1,200,00	ć	920.00	4		
604-10.63	25	LF	Concrete Repairs (Cracks)	\$	434.88	Ś	10,872,00		300.00	Š	7,500.00	4	175.00	è	4,375.00	2		9	3,680.00	
705-08.10	2	Each	Portable Impact Attenuator NCHRP350 TL-2	15	4,606.20	Ś	9,212,40	\$	5,000.00	¢	10,000.00	ė	7,000,00	4		9	294,00	2	7,350.00	
712-01	1	LS	Traffic Control	15	4,767.20	5	4,767.20	4	15,000.00	ć	15,000.00	4		\$	14,000.00	3	3,400.00	5	6,800.00	
712-02.02	300	LF	Interconnected Portable Barrier Rail	3	46.83	5	14,049.00	¢.	32.00	è	9,600.00	5	10,000,00	3	10,000.00	\$	16,435,23	5	16,435.23	
712-04,01	20		Flexible Drums (Channelizing)	3	46.06	¢	921.20	4		ć		3	30.00	\$	9,000.00	\$	37.00	\$	11,100.00	
712-05.03	20		Warning Lights (Type C)	ė	54.55	Ś	1,091.00	\$	40.00	\$	800,00	3	10.00	\$	200.00	\$	41,00	\$	820.00	
712-04.50	10		Barrier Rail Delineators	0	18.18	5		2	50,00	\$	1,000.00	\$	10,00	\$	200,00	\$	32.00	\$	640.00	
712-06	216		Signs (Construction)	10		3	181.80	3	20.00	\$	200.00	\$	20.00	\$	200.00	\$	13,50	\$	135,00	
712-09.01	1000		Removable Pavement Marking Line	2	9,70	\$	2,095.20	\$	15.00	\$	3,240.00	\$	8.00	\$	1,728.00	\$	13.50	\$	2,916.00	
712-09.04	40			5	3,58	5	3,580.00	\$	3,50	\$	3,500.00	\$	3.00	\$	3,000.00	\$	3,50	\$	3,500.00	
717-01	1		Removable Stop Line	5	18,18	\$	727.20	\$	25,00	\$	1,000.00	\$	20.00	\$	800.00	\$	19,00	\$	760.00	
30-40	1		Mobilization	\$	10,493.25	\$	10,493.25	\$ 1	10,000.00	\$	10,000.00	\$	25,000.00	\$	25,000.00	\$	15,000,00	S	15,000.00	
30-40	1	Each	Temporary Traffic Signal System	\$	17,212.60	\$	17,212,60	\$ 2	20,000.00	\$	20,000.00	\$	32,000.00	\$	32,000.00	\$	11,250.00	Ŝ	11,250.00	
			Total			\$	137,613.25			\$	139,040.00			Ś	141,703.00		,	è	152,386.23	

17754440			DESCRIPTION	Ronald Franks Construction					Potter :	Sout	h East	Г	McKinnon Construction			
ITEM NO.	EST. QTY.	-		UNIT PRICE		EXTENDED PRICE			UNIT PRICE	EXTENDED PRICE			UNIT PRICE	EXTENDED PRIC		
604-10.32	80	LF	Expansion Joint Replacement	\$	962.00	ŝ	76,960.00	Š	892.00	\$	71,360.00	3	1,655.00	Ś	132,400.00	
604-10.50	4	S.Y.	Bridge Deck Repairs (Partial Depth of Slab)	\$	450.00	S	1,800.00	5	630.00	4	2,520.00	4	1,000,00	è	4,000.00	
604-10.63	25	LF	Concrete Repairs (Cracks)	S	200.00	Ś	5,000.00	5	110.00	4	2,750.00	è	250.00	5		
705-08.10	2	Each	Portable Impact Attenuator NCHRP350 TL-2	\$	4,600.00	Š	9,200.00	ć	4,500.00	ć	9,000.00	c		5	6,250.00	
712-01	1	LS	Traffic Control	\$	5,800.00	Š	5,800.00	Ś	3,500.00	¢	3,500.00	è	10,000.00	0	9,000.00	
712-02.02	300	LF	Interconnected Portable Barrier Rail	5	46.00	Š	13,800.00	S	31.00	é	9,300.00	4		2	10,000,00	
712-04.01	20		Flexible Drums (Channelizing)	Ś	42.00	Š	840.00	5	29.00	¢.		2	35.00	3	10,500.00	
712-05-03	20		Warning Lights (Type C)	d	40.00	ć	800.00	2		0	580.00	3	45,00	3	900.00	
712-04.50	10		Barrier Rail Delineators	ť	15.00	\$		3	35.00	5	700.00	3	55.00	5	1,100.00	
712-06	216		Signs (Construction)	4	12.00		150.00	\$	21.00	5	210.00	\$	20.00	5	200.00	
712-09-01	1000		Removable Pavement Marking Line	ė		Ş	2,592.00	\$	9.85	5	2,127.60	\$	9.00	\$	1,944.00	
12-09.04	40		Removable Stop Line	3	4.00	>	4,000.00	5	10.00	\$	10,000.00	\$	3.75	\$	3,750.00	
17-01	1	_	- 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	3	25.00	\$	1,000.00	\$	50.00	\$	2,000.00	\$	30.00	\$	1,200.00	
30-40		_	Mobilization	\$	7,000.00	\$	7,000.00	\$	12,800.00	\$	12,800.00	\$	11,125.00	\$	11,125.00	
30-40	1	Each	Temporary Traffic Signal System	\$	35,000.00	\$	35,000.00	\$	40,000.00	\$	40,000.00	\$	41,230.00	\$	41,230.00	
			Total		5.00	\$	163,942.00			ŝ	166,847,60			\$	233,599.00	



Sally Darnell

From:

Katherine Aimeri

Sent:

Friday, February 01, 2019 10:44 AM

To:

Greg Green; Sally Darnell garylongachd@comcast.net

Cc: Subject:

RE: Recommendation Letter, Bid Tab and Notice of Award

Hi All.

Before proceeding the Finance Director will also need to sign the notice of award. After Gary signs please send it to me so I can obtain that signature.

Thank you, Katherine

From: Greg Green [mailto:ggreen@rgc-a.com] Sent: Friday, February 1, 2019 10:30 AM

To: Katherine Ajmeri <kajmeri@andersontn.org>; Sally Darnell <sdarnell@andersontn.org>

Cc: garylongachd@comcast.net

Subject: Recommendation Letter, Bid Tab and Notice of Award

Good Morning All,

Attached are the Recommendation Letter, Bid Tab and the Notice of Award for the Bridge rehabilitation for the Lovely Bluff Road Bridge over the Clinch River.

Gary, if you will print off the Notice of Award Letter and Sign it, then scan it and email it back to me, I will send it on to the Contractor for him to sign and he can start working on his Performance and Payment Bonds.

Greg Green, P.E. Project Manager



Robert G. Campbell & Assoc., L.P.

7523 Taggart Lane Knoxville, TN 37938 Phone: 865-947-5996 Fax: 865-947-7556

Email: Greg.Green@rgc-a.com